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1. Nxapon", how do we know that 17091w n'7j7 D'wTj? need no"W?
a. Itisamini 7y from o'wTR 'WTR
b. "9awn wxa UTA”
C. "IN WK1 DN N7
d. N7 "maxna

2. According to the nIax 72 N2 2T NN, if what happened to the DnAXT nxvnN
happened to a regular nxun, when would they burn it?

a. ™n

b. After nnx N2y

c. Ifit was nXnwa they would be T qIw but if it was because of ni'ax it would
need NMIx 1Y

d. Ifit was because of ni1ax they would be T Q1w but if it was xnuva it would
need NMIx 1Y

3. Regarding which 7109 is there a X3'X nIn that it would not need no"w?

a. Nnvl

b. nnT|?

C. NNT XY

d. Mmipna X7w nunwa

4. If the n'"7ya were INnV] after DTN N7, when is the 9w a37?
a. ™
b. After nnix N2y
c. ltisanp7nn
d. Itisan RO'WO'N K7T X'WA'N

5. What is the |'T of a 2IX '717a |nD? (see W)
a. Heisanpn and D'wTR DI
b. Heisampn but he is only N2 207 DIX
c. Heisanpn but not D'UTR IR
d. Heis2amnjmn, and some say he can even be D'wT DIX
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